Name____________________________________
6.3: Law of Universal Gravitation Worksheet

Part One: Fill in the blank using the words provided (not all words will be used, some

                  may be used more than once).

friction
gravity
upward
downward

tall

short

meters
weight 
inertia

mass

kilograms

strong

weak

increased decreased 
Moon

Earth

velocity

distance
friction
newtons
1. Every object in the universe exerts a force on every other object.  
    This force is called _________________

2. The measure of the force of gravity on an object is the object’s ___________________

3. The amount of gravitational force between 2 objects depends on their _______________ & 
    ______________

4. Weight is measured in units called _____________________

5. The greater an object’s _____________________, the stronger the gravitational force on it.

6. Mass is measured in units called _______________________.

7. Earth exerts a stronger gravitational force than the Moon because the __________________ 
    has more mass.

8. An object moved from the surface of the Earth to the Moon has its weight ______________.
9.  Gravity is a very ______________________ force

10. According to the Law of Universal Gravitation, ________________ has the greatest effect 

      on the strength of the gravitational force.
Part Two: Circle the picture in each set that shows the greater gravitational force
                  between the 2 objects.

Part Three: Multiple Choice – Read the question carefully and choose the best response. 

                                                    THINK!
15.  The gravitational force between 2 objects is 100N.  If the distance between those 2 objects

        is doubled, what happens to the gravitational force?

A. it doubles


B. it is cut in half


C. it is four times as great


D. it is ¼ as much

16.  The gravitational force between 2 objects is 30N.  If the mass of one of those objects is doubled, what is the new gravitational force?


A. 30N


B. 45N


C. 15N


D. 60N
17.  Assume that you have a mass of 45.0 kg and Earth has a mass of 6.00×1024 kg. The radius
       of Earth is 6.33×106 m. What is the approximate force of gravitational attraction between
       you on the surface and the Earth? Use G = 6.67×10-11 N·m2/kg2.

A. 450 N


B. 900 N


C. 220 N


D. 650 N
